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NViT1 4NVT2 represents the formula for

What is the net amount payable of goods listed 1.
at 500,000FCFA with a trade discount of 5% NVi4nv,
and a cash discount of 10%? A\ ¥ ——
omm
A 75,000FCFA B  Average due date
B  25,000FCFA C Equivalence of bills
C 4,275,000FCFA D Maturity date
D 50,000FCFA
8. Mr CLEVANCE had 1,300,000FCFA as a
The ratio of the quantity of sugar to that of debit balance in his account on the
flour used in baking is 1:4. How many 30/06/2023. A customer paid 2,100,000FCFA
kilograms of flour will be needed if 3kg of into his account. What will be his balance?
sugar are used? A 1,300,000FCFA debit balance
A dkg B  2,100,000FCFA credit balance
B dkg C  800,000FCFA debit balance
C Skg D  800,000FCFA credit balance
D 12kg
i 9. It took John 2hours 45minu_tes to cover a
3 X G + %) when simplified gives: distance of 275km. Determine the speed.
A 60km/h
i- 2 B 137.5km/h
4 C 100km/h
B 2 D 110km/h
4
5 3 10. A bill created on the 3/7/2023 has 37days to
D = mature. Give the maturity date.
A 11/08/2023
At what rate will a capital of 100,000FCFA B 9/08/2023
produce a simple interest in function of the C 10/08/2023
time given in months of 500t ? D 8/08/2023
A 20% 11. $1=611FCFA and £1=764FCFA. Give the
B 6% exchange rate between the dollar and the
0
pound.
IC) ;f,’/% A 1$=125¢
° B 1$=611£
C 18$=764£
ABOOU bought 3 plates and 5 glasses for D 1£=125§
3500FCFA. If one glass costs him 300 FCFA,
what is the cost of 3 plates? 12. A rectangular wall measures A meters by 2A
A 1500 FCFA meters. If the perimeter of the wall is 18m,
B 700 FCFA what is the value of A?
C 2400 FCFA A  6m
D 2000 FCFA B 12m
C 9m
Calculate the average age from the table. D 3m
Age (x) Frequency (f)
20 3 .
0 ) 13. What is 5 0f 25,000FCFA?
A 60 A 10,000FCFA
B 80 B 62,500FCFA
Cc 28 C 15,000FCFA
D 30 D  25,000FCFA
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14.

Six bowls cost 1,800 FCFA. What will be the
cost of 13 bowls?
A 3,700FCFA

B 3,900FCFA
C  4,200FCFA
D 2,850FCFA

15.

What is the probability of selecting a
calculator from a bag mixed with phones given
that there are 15 calculators and 25 phones?

3
A =
:
B =
1
c =
3
DAL
5
16. Give the common difference of an'arithmetic

progression with a first capital 100,000FCFA,
the second 150,000FCFA and the thlrd
200,000FCFA.

A 100,000FCFA

B  150,000FCFA

C 50,000FCFA

D 200,000FCFA

17.

The following are the progressive yearly
acquired values of the capltal of 200,000FCFA

at simple interest.

19.

Find the simple interest on 70 000FCFA at
10% for 9 months.

A 5,250FCFA

B  63,000FCFA

C 5,550FCFA

D 1,750FCFA

20.

From 4x + 30 000 90 000 what is the value
of x?
A 75,000

B 22,500
C 15,000
D 30,000

21.

A given amount was shared between AMBE

~and ABDOUL in the ratio 2:3. Given that
‘ AMBE received 400FCFA how much was

shared?

A 400FCFA
B 1,000FCFA
C 600FCFA
D 1,400FCFa

22,

A set of school materials consists of 60 pens,
40 rulers and 80 boxes of chalk. What angle
will chalk will represent in the pie- chart.

A 180°

B 80°

C 100°

D 160°

yearly : Acqunred value
1 200,000 FCFA
e 210,000 FCFA
3 220,500 FCFA
What is the compound interest after three
years?

A 10,000FCFA

B  10,500FCFA
C 11,025FCFA
D 20,500FCFA

231

§ of a piece of land is sold at 1,500,000FCFA.

Give the total value of the land?
A 3,000,000FCFA

B 3,750,000FCFA

C 600,000FCFA

D 7,500,000FCFA

18.

A company pays a commission of 5% on sales
values above 3,000,000FCFA. How much
commission will the sales of 3,850,000FCFA

yield?

A 192,500FCFA
B  42,500FCFA
C 150,000FCFA
D 112,500FCFA

24,

12 cup cakes are sold for 1,000FCFA and a
cake is sold at 100FCFA. What is the
percentage gain for buying in bulk?

A 20%

B 10%

C L1%

D 11%

25,

Complete set B if set A is directly proportional
to set B.

A= {3, 10, 4} and B= {6, 20, - }

A 6

oaow
o\ 0~
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26%

A business entity in BUEA grills 20 chickens
every day for 6 days a week. How many
chickens will be grilled in 2 weeks?

120 -

240

40

560

oaOw >

27

Slmphfy 200:800 to its s1mplest form
A 2:8

B 14
C 4
D 04

G 16
D 13

34.

BENNYA saves 102,000FCFA in his bank
account that pays 5% interest per annum. How
much will he withdraw after 18 months?

A 7,650FCFA

B © '94,350FCFA
C '102,000FCFA

B FOYESOPERA =3 . 1 ITh ATai¥] 'z

28.

If IN =4 FCFA and a trader left Cameroon
for Nigeria with 3,600 OOOFCFA to buy goods
worth 3,000 OOOFCFA How much was his
balance in Naira?

A 150,000N

B 200,000N
C 350,000N
D 100,000N

35.

After how many days will a bill of face value
960,000FCFA discounted at 12% p.a. produce
a discount of 28,800FCFA?

A 30days
B 60 days
C 90 days
D 120 days

29.

What is the present value of a capital
300 000FCFA 1nvested at 4% for 2 years"
A 276,000FCFA \

B 300,000FCFA
C 194,000FCFA ¥
D 324,000FCFA Wi

36,

A train starts from a place 4 at 6: 00 am and

_arrives, to another place Bat 4: 30pm on the

same day. Iﬁthe speed of the train is 40km/h,
find the distance covered by the train..

A 400km 33000

B 320km A0 432
C  230km AR, 07
D 420km ™

30.
i~.5,000,000FCFA, What is the cost of a square

A piece of land measures 625m? sold at

metre?
A 10, OOOFCFA

B 8,000FCFA =~
C 1,000,000FCFA = =
D 800,000FCFA '~

1
y'%;

J

{l

37,

A capital'increases at an Arithmetic « -

‘progression rate: If the first capital is - -

200,000FCFA and the common difference is

50, OOOFCFA what will be the fourth capital?

A 350 OOOFCFA

- B . 400,000FCFA

‘C 450,000FCFA

D 500,000FCFA

TRVERCEN

31.

The deduction granted because of prompt

' payment of goods is ca]led

A A Rebate

B A Cash dlscount'
C A Trade discount
D The Net amount

. What is the proportional mean of 5 and 45?

T I |

B 9
¢ 225
D 15

38.

gow

Calculate the charges at 0.2% of sending
20,000,000FCFA through western Union.
A 4,000,000FCFA

400,000FCFA
40,000FCFA
4,000FCFA

L—

33.

What is the median score of the scores
12, 5,16, 13, 13, 87
A 145

auBY 125

00/5020/1

39.

A farmer shares a bonus between‘its 2 workers
such that the first worker receives twice the
second. If the first receives '15,000FCFA, how
much was shared by the farmer? :

A 30,000FCFA

7,500FCFA
15,000FCFA
22,500FCFA

COow
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40. The probability of a student making it in 46. What is the index if price increases from

school on time is <, what will be the 18,000FCFA to 27,000FCFA?

probability of the student not making it in AN L

school on time? B 1.4%

A 23 C 12%

B 12 D 0.81%

C, 1B

B L. 3" 47. Give the average of the number: 15, 17, 20 and

28.

41. Which of the following is equivalent to 722 A 20

A 04 B__15

B 4 e\

C 025 B

D 25 ;

48. A current account at the end of the period has

42. Convert 25.5kg to grams a total amount of 5,049,475FCFA debited and

A 25500g ' capital balance of 499,175FCFA on the credit

side. What is the total credit balance to be

B 255000¢g carried forward?
C  2550g A 5,049,475FCFA
D 255g
B 4,550,300FCFA
43. What is the mark-up on cost of an article that g ‘519094:;7955%?;% A
costs 15,000FCFA and is sold for T
1 ? i o th
AL 49. A worker is paid 3,000FCFA per hour and

3,500FCFA an hour of overtime. How will his

B 16.6% gross salary be if he works 40 normal hours
0
C 93-30 Yo and 8 hours of overtime?
D 120% A 120,000FCFA
44. 2 100FCFA is shared directly proportional to lé ?gbogggg(lj:? "
1:2:4. Calculate the share of the third person. D 1 48,000FCF A
A 1,200FCFA 50. A profit of 3,500,000FCFA is divided as
B 1,400FCFA follows: 20% is kept aside as legal reserve and
C 600FCFA the rest is divided among 3 partners. How
D 2,100FCFA much will be shared to the partners?
T TRE A 700,000FCFA
45. How much interest will a capital o
200,000CFA invested for 2 years at compound 2 iggg’ggggggi
. 0 d 9 ’ )
interest rate of 4% per annum produce? D  3.500.000FCFA
A 16,320FCFA
B 16,000FCFA STOP
C 8,320FCFA
D 8,000FCFA GO BACK AND CHECK YOUR WORK
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